BLANKET PURCHASE ORDER STATE OF MARYLAND

******* STATE OF MARYLAND **********

BPO NO: 001B6400242 **PRINT DATE:** 03/27/19 **PAGE:** 01

SHIP TO:

AS SPECIFIED ON INDIVIDUAL ORDERS

VENDOR ID:

RGFCC DBA ENVIROKLEEN

629 CADY DRIVE

FORT WASHINGTON, MD

(301)839-3603

REFER QUESTIONS TO:

TONIA V. WELLS (410)767-4720

TONIAV.WELLS@MARYLAND.GOV

ITB: 0011T819821 | EXPR DATE: 12/31/19 | DISCOUNT TERMS: . NET 30 DAY

POST DATE: 12/21/15 **CONTRACT AMOUNT:** 360,243.00

TERMS:

ARTICLES HEREIN ARE EXEMPT FROM MARYLAND SALES AND USE TAXES BY EXEMPTION CERTIFICATE NUMBER 3000256-3 AND FROM FEDERAL EXCISE TAXES BY EXEMPTION NUMBER 52-73-0358K. IT IS THE VENDOR'S RESPONSIBILITY TO ADVISE COMMON CARRIERS THAT AGENCIES OF THE STATE OF MARYLAND ARE EXEMPT FROM TRANSPORTATION TAX.

MODIFICATION #3: THIS MODIFICATION IS BEING DONE TO CORRECT THE EXPIRATION DATE TO 12/31/19 THAT WAS OMITTED ON COI08078.

20744

CURRENT CONTRACT AN ADDITIONAL SIX (6) MONTHS BEGINNING 7/1/19 THROUGH 12/31/19. ALL OTHER TERMS, CONDITIONS & PRICE REMAIN THE SAME. .

OPERATING FUNDS:

H00 19 33541 0813 \$42,942.00

MODIFICATION #1: THIS MODIFICATION IS BEING DONE TO EXTEND THE CURRENT CONTRACT AN ADDITIONAL SIX (6) MONTHS BEGINNING 1/1/19 THROUGH 6/30/19. ALL OTHER TERMS, CONDITIONS & PRICE REMAIN THE SAME.

OPERATING FUNDS:

H00 19 33541 0813 \$42,942.00

THE STATE RESERVES THE RIGHT TO ADJUST HE SCOPE OF WORK PROVIDED IN

*** CONTINUED, NEXT PAGE ***

BLANKET PURCHASE ORDER STATE OF MARYLAND

******* STATE OF MARYLAND **********

TERMS (cont'd):

THE SPECIFICATIONS IN ORDER TO KEEP THE EXPENDITURES WITHIN AUTHORIZED APPROPRIATIONS.

JANITORIAL SERVICE AT THE BORGERDING DISTRICT COURT/MULTI-SERVICES CENTER, 5800 WABASH AVENUE, BALTIMORE, MD 21215.

VENDOR CONTACT: ROBERT FLOWERS, RFLOWERS@RGFCC.COM, 301-839-3603

OPERATING FUNDS:

H00 2016 33541 0813 \$46,710.50 H00 2017 33541 0813 \$91,453.00 H00 2018 33541 0813 \$91,453.00 H00 2019 33541 0813 \$44,742.50

SMALL BUSINESS RESERVE CERTIFICATION #SB12-14498

THIS IS A LIVING WAGE CONTRACT: TIER 1

MINORITY BUSINESS ENTERPRISE GOAL: 5%

PLEASE RETAIN SECTIONS A, B AND C FOR FUTURE REFERENCE

CONTRACT DESCRIPTION:

JANITORAL SERVICE AT THE BORGERGING DISTRICT COURT/MULTI-SERVICE CENTER FOR A PERIOD OF THREE (3) YEARS, BEGINNING JANUARY 1,2016 THROUGH DECEMBER 31,2018, IN ACCORDANCE WITH THE STATES TERMS, CONDITIONS, REQUIRED CONTRACT PROVISIONS, AND SPECIFICATIONS.

LINE #	STATE ITEM ID	<u>U/M</u>	UNIT COST	
0001	91039-JNITOR	LT	148,500.0000	

JANITORIAL SERVICES

TO PROVIDE JANITORIAL SERVICES TO THE EDWARD F. BORGERDING DC/MSC LOCATED AT 5800 WABASH AVE. BALTIMORE MD 21215 FOR THE PERIOD OF 1/1/2016 THROUGH 12/31/2018.

MONTHLY COST: \$4,125.00 * 36 MONTHS = \$148,500.00

BLANKET PURCHASE ORDER STATE OF MARYLAND

******* STATE OF MARYLAND **********

LINE # STATE ITEM ID U/M UNIT COST

0002 91039 LT 2,928.0000

JANITORIAL/CUSTODIAL SERVICES
ALTERNATE #1 - CLEAN AND SHAMPOO CARPETING (SEMI-ANNUAL)

6 TIMES * \$488.00 = \$2,928.00

0003 91039 LT 7,875.0000

JANITORIAL/CUSTODIAL SERVICES
ALTERNATE #1 - CLEAN ALL INTERIOR AND EXTERIOR WINDOWS AND GLASS WALLS (SEMI-ANNUAL)

6 TIMES * \$1,312.50 = \$7,875.00

0004 91039 LT 4,860.0000

JANITORIAL/CUSTODIAL SERVICES
ALTERNATE #3 - CLEAN ALL LIGHTING FIXTURES (ANNUAL)

3 TIMES * \$1,620.00 = \$4,860.00

0005 91039 LT 1,044.0000

JANITORIAL/CUSTODIAL SERVICES ALTERNATE #4 - CLEAN VENETIAN BLINDS

3 TIMES * \$348.00 = \$1,044.00

0006 91039 LT 109,152.0000

JANITORIAL/CUSTODIAL SERVICES ALTERNATE #5 - DAY PORTER

*** CONTINUED, NEXT PAGE ***

BLANKET PURCHASE ORDER

STATE OF MARYLAND								
BPO NO:	********* 001B6400242	*** STATE OF MARYLAND ************************************						
LINE #	STATE ITEM ID	U/M	UNIT COST					
36 MONTHS * \$3,032.00 = \$109,152.00 END OF ITEM LIST								
		END OF I	TEM LIST					
THE BLANKET PURCHASE ORDER (BPO) ISSUED AS A RESULT OF THE INVITATION TO BID (ITB) AND ANY SUBSEQUENT AMENDMENTS, MODIFICATIONS OR OPTIONS ISSUED RELEVANT TO THE ITB OR BPO, SHALL COMPLY WITH ALL OF THE TERMS, CONDITIONS AND SPECIFICATIONS ISSUED WITH THE ITB AND ARE INCORPORATED IN AND MADE PART OF THE BPO.								
	**	***** LAST P	AGE ******					